Patni Placement Papers:

1. How many diagonals of different lengths are possible in a convex regular decagon?

1)4

2)7

3)5

4)19

5)35

2. Which of the following has the greatest value?

1) - log(25)

2) - log(125)

3) log(5)

4) log2

5) -1

3. Nineteen delegates are participating in a round table conference with a host. Two particular delegates always wish to occupy either sides of the host. One particular delegates wants to sit just opposite the host. How many different seating arrangements are possible?

1)(17)!*(13)!

2)(16)!*(2)!

3)(17)!*(2)!

4)(18)!*(2)!

5) None of these

4. In a square ABCD, T, U, V and W are points on side AB, AD, CD and BC

such that AT: AB = AU: UD = CV: VD = CW: WB = 2:1. Further Z and X are midpoints of UT and UV respectively, while Y is a point on TW such that TY: YW = 1:2. Find the ratio of the area of the triangle XYZ to that of the square ABCD.

1) 5:54

2) 7:61

3) 2:11

4) 4:27

5) None of these

Directions : In the following question two equations are provided. On the basis of these you have to find the relation between p and q.

Give answer (1) if p = q

Give answer (2) if p > q

Give answer (3) if q > p

Give answer (4) if p ? q, and

Give answer (5) if q ? p.

5. I. 17P^2 + 15p + 2 = 4

II. 3Q^2+ 7q + 4 = 0

6. While finding the HCF of two coprime numbers N1 and N2, the four successive quotients are 5, 3, 7 and 9 respectively. Find the greatest number which when it divides to N1 and N2 leaves the same remainder in each case.

1) 124

2) 193

3) 217

4) 311

5) 517

7. On the portion of the straight line x + y = 2 which is intercepted between the axes, a square is constructed away from the origin, with this portion as one of its side. If p denotes the perpendicular of a side of this square form the origin, then the maximum value of p is

1) 2

2) 3

3) 4

4)

5) None of these

8. Find the least positive integer which has 26 divisors excluding 1 and the positive integer itself.

1) 1760

2) 234

3) 290

4) 720

5) 960

9. If N = (81)^64 – (47)^64 then N is not divisible by

1) 877

2) 85

3) 160

4) 170

5) None of these

10. Different four-digit numbers are formed with the help of digits 0, 2, 3, 5 and 7. Find the sum of all those four-digit numbers.

1) 3197300

2) 2496500

3) 2313700

4) 5456700

5) None of these

11. There are 10 identical blocks of cuboids of dimension 2cm,3cm , 5cm. The blocks are kept one on top of the other in a random fashion to form a structure. How many structures of unique height can be created using these blocks? (Neglect the instability of the structure.)

1) 29

2) 30

3) 37

4) 46

5) 60

12. S is a set of triangle such that no two triangles in this set are similar. All triangles in S are having angles in integral degrees. What is the maximum number of different triangles in S?

1) 2700

2) 1726

3) 2631

4) 1986

5) Can't say

Directions (Q. 13-17): Answer the questions on the basis of the information given below.

A photo-shoot is to be done involving 9 people A, B, C, D, E, F, G, H and I. They are sitting in a row form left to right, all facing the camera. Only 3 of them are formally dressed. furthermore, A, F and G are males. D and I are females.B is a formally dressed male and C is a formally dressed female.Males and females occupy we select 3 persons from the group such that there is at least one .

13. In how many different ways can we select 3 persons from the group such that there is atleast one male and that E and H are never selected?

1) 63

2) 32

3) 24

4) 34

5) Can't say

14. Which of the following statements provides sufficient information to determine, with respect to each and every person, whether the person is a male or female and whether the person is formally dressed or not?

1) I is a formally dressed male.

2) H is a formally dressed female.

3) A is a formally dressed male.

4) E is a formally dressed male.

5) None of these

15. If H is a male who is not formally dressed, then which of the following is/are necessarily false?

I. A sits sixth from the left in the row.

II. B sits seventh from the right in the row.

III. H sits fourth from the left in the row.

IV. D sits second from the right in the row.

1) Only I

2) Only II and III

3) Only I and III

4) Only II and IV

5) Only IV

16. Assume that E is a formally dressed female. If all the formally dressed persons must sit on the three right most seats, which of the following is/are NOT an acceptable sitting sequence(s) from left to right?

(I) ADFIGHCBE

(II) GIFDAHEBC

(III) IADFHGCBE

(IV) HGIAFDEBC

1) I, II and IV

2) II and III

3) I and IV

4) II and III

5) None of these

17. Let E be a male who is formally dressed. The photograph would not turn out to be good if three or more persons who are not formally dressed sit together. Which of the following information’s is/are sufficient to infer the position at which C sat

(from left) in a photograph that turns out to be good?

I. The formally dressed person sat fifth from the left.

II. The formally dressed person sat second from the right.

III. The formally dressed person sat first from the right.

IV. The formally dressed person sat third from the right.

1) Only I

2) I and IV

3) II and III

4) III and IV

5) Only IV

Directions (Q. 18-22): Below in each question are given two statements (A) and (B). These statements may be either independent causes or may be effects of independent causes or of a common cause. One of these statements may be the effect of the other statements. Read both statements and decide which of the following answer choices correctly depicts the relationship between these two statements.

Mark answer 1): in statement (A) is the cause and statement (B) is its effect.

Mark answer 2): if statement (B) is the cause and statement (A) is its effect.

Mark answer 3): if both the statements (A) and (B) are independent causes.

Mark answer 4): if both the statements (A) and (B) are effects of independent causes.

Mark answer 5): if both the statements (A) and (B) are effects of some common cause.

18. 

A. XYZ state government has released Rs. 50 crores to strengthen the Panchayati Raj Institutions in the state.

B. The third State Finance Commission of the state XYZ has been constituted to improve the financial position of the state.

19. 

A. Some of the world's best-known names in hotels are planning to invest heavily in India.

B. Demand for hotel rooms is soaring in India as its economy blossoms.

20. 

A. The state XYZ has taken a new initiative to provide to pregnant women free transport facility to the nearest hospital in case of an emergency and the facility will be available round the clock.

B. The state XYZ has requested its power consumers to become a vigilant customer, and advised them to report power theft to the nearest power station.

21. 

A. There have been huge investment coming in the software industry, financial services and manufacturing in the country 'X'

B. The country 'X' is confident that foreign direct investment inflows during the current year will cross $11 billion.

22. 

A. The bank XYZ has launched 'Easy Cash Card', India's first loan disbursement card.

B. The loans disbursed through cheques or drafts compel customers often to wait for the proceeds to be credited to their accounts to be able to use the funds.

23. An empty fuel tank of a car was filled with A type of petrol. When the tank was one-third empty, it was filled with B type of petrol. Again, when the tank was one-third empty, it was filled with A type of petrol. Again, when the tank was one-third empty it was filled with B type of petrol. At this time what was the percentage of B type of petrol in the tank?

1) 51 %

2) 48 %

3) 49 %

4) 50 %

5) None of these

24. Approximately what will be the compound interest on a sum of Rs. 37,000 after four years at the rate of 12 percent per annum?

1) Rs. 17,760

2) Rs. 21,220

3) Rs. 18.870

4) Rs. 14,982

5) Rs. 19,760

25. The length of a rectangle increases by 20% and the breadth by 30%. Then the perimeter of the rectangle will increase by 1) 56%

2) 25%

3) 22 %

4) Data inadequate

5) None of these

ANSWERS:    1. (2)    2. (3)    3. (2)    4. (1)    5.(4)    6. (1)    7. (2)    8. (5)    9. (5)    10. (3)    11. (2)    12. (1)    13. (4) 14. (4)    15. (3)    16. (1)    17.(3)    18. (5)    19. (2)    20. (4)    21. (1)    22. (2)    23. (2)    24. (2)    25. (4)

